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(q a. Define the 2 traits necessary for similar figures: _@@m__a)_%&w“
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b. Name 3 similarity shortcuts for triangles: PrAl S"SS' S’PrS
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. If a figure has the ratio of sides = %, then the ratio of the areas=_ &

If a figure has the ratio of sides = %, then the ratio of the volumes = 3

a

e. A median of a friangle is the segment joining a vertex to the midpoint of the side cpposite
that vertex. The medians of two similar triangles are proportlonal to their correspending sides.
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f. An angle bisector in a triangle divides the opposite side lnto segments that are proportional
to the other two sides. Use this to solve for y.
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Solve each propottion.
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Find THT to the nearest tenth if BC = 15rm1hmeters D =17 millimeters, and
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Are rectangles XEMJ and BCDA similar? Bxplain why or why not.
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Sa. Are these'triangles similar?

Conﬁrue,n\-« ¥ CorrespPonchng Swdes o

o P)"}\maﬁ?.
5b. Are these triangles similar?
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Given: aABC with DE|| FG || AC
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M (X1E) = 20 Find DF and GC. Can you find the length of EC?
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7. A yardstick casts a shadow 2ft long at the same time a tree casts a shadow 32 ft long. e
How tall is the tree, to the nearest foot? LV

Diagram: Proportion:
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Height: L{%“ .




8. Find k. What is the name of the line from A and X that is drawn to the midpoint (middle) of

the opposite side? _{echan What does each line do to the original triangle?
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9. An Angle Bisector divides the opposite sides into segments that are PEQFX_-}:‘QQQQ_
to the other two sides. :
Set up the propottions: P
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10. Charlie wanis to measure the height of a tree outside his house. He places a mirror on the
ground in front of himself and the tree and stands so that when he looks inta the mirror, he sees
the top of the tree. The mitror is 15 ft from his feet and 45 ft from the base of the tree. Charlie’s
eye is 5 ft above the ground. What is the height of the tree? '

Diagram: Proportion: Height: ;20-@—
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ABAE ~ AHIE

11. Findx, - _ _ ¥
13. The ratio of the areas of two cylinders is L"l?a:ZS.
What is the ratio of their volumes? __ 255
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14. The rectangular shipping crates are similar.

What is the ratio of their volumes? /25
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15. TRI ~ ANG, Find RI.
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